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6.  The height of the Empire State Building in New York City, antenna |
from the ground to the top of its antenna, is 1,472 feet. f ind x .
From a point several blocks away, the angle of elevation to roof
the top of the antenna is 55.5°. From the same point, the /

angle of elevation to the roof of the building is 51.0°. How
high is the roof top of the Empire State Bu11d1ng° (Round to

1,472 ft

the nearest foot.) .
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7. Each refers to triangle ABC, which is not necessarily a right triangle. For each, determine whether to
use the Law of Sines or the Law of Cosines to answer the question. The ambiguous case is not
included in this set of exercises.

a) IfA=32°B nd a = 38 centimeters, b) IfA=15°b=_8inches, and ¢ = 12 inches,

find the length 0 TL\« ' A A g find the length of.
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c¢) If a= 10 meters, b =7 meters, a@ d) IfA=106° C=20° and a =42 inches,

¢ = 9 meters, find the measure o find the length of b.
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c = 5.93967 vounded v, (T R = cos™ (07560



